Shivaji University, Kolhapur

B.A.(Part-1) (Semester-11) Examination (March, 2023) May - 2023
Marathi (Opt.) DSC- A13 Paper-11 (CBCS) Sub. Code: 88368

YUY I®:- HERIY

Day & Date:Tuesday: 25/05/2023
Time: 10.30 to 12.30 Total Marks: 50

AT :-
?) 4 WxH WSO} Smazu 3.
R) STRT SIS 3ie U7 g=fadrd.

U=H-  URY yuiy fAgs. %0
?) wmmmwwwmo
)T ®) Weds  8) R4
?)ﬁﬁmﬂmmgﬂ%wmm
3) godwe  d) HOPR )Trq%rji)ﬁm
3) PUMOTG! 7 QA Hgl YsRIH HI 91 ?
) @ T W FH) Y E) AYSH!
¥) TISHSI THEA 316 ST URaRd 3118 ?
AMTE UM H)Iadl  8) MR
Y) HAIST He U DI 94 faot 2
3) fius d) a8 D) Wiy ) e
&) HME......... Higd 79U o GU 3R] L.
3) AE&Ad  §) M H) A9 ) UNgHh
) ST YTIYHT HITT TT0T ST 2
3f) 1ol §) g $)§E‘cﬂ'3f 8) iz
c)qﬂwmﬁma&r%aﬁ
) TG HIR §)T0R F)To™ §) °R
Q) TS JoTEdeT deb! HIUTdT Hes T Tl 3X0T ?



a ey §) d@yd @) dRET )
TIITe g SUqS o] WU S0l YgT HIAT ? |
i a{)nggiaﬁ §) AdHI H) TeRiE ) HUREE!

20
LR 19 7))

Wz) W;ﬁ@a@;mﬁﬁﬁwmﬂ:ﬁu
m?iﬂ%ﬂmmmsﬂammaﬁmms‘rm?h?

20
H i)
mz) wﬁmﬁ%ﬂammm B 318 ? i

R) Pl BIH-IY FZTdd JieAT BT Hgldg HIvT TR 3

3) W g7 81 SR UdIP 31 2

oY fogr @@= tst ) 20
m; m%ﬁmﬁwmﬁmm ?
R) SITHIGRT 707 YIS WY T 2

3) TIAHIGT PRAHT TIAHIGRI BV BTossh Tt 2
TR 4 ogt v e @R i ) 20

%) SMHT U] BT ?

2)) BiAdd 3MHoT HY FI?

3) TNHIAEY 3%F 3 2

¥) muﬁm@wmm@n@?



SC-196

Total No. of Pages : 2

Seat
No.
M.A. (Part- IT) (Semester- I11) (CBCS) (New)
Examination, January - 2023
ENGLISH (Group- B)
Australian and Canadian Literature
Sub. Code : 71333/61595
Day and Date : Saturday, 14 - 01 - 2023 Total Marks : 80

Time : 10.30 a.m. to 1.30 p.m.

Instructions: 1)  All questions are compulsory.

2)  Figures to the right indicate full marks.

Q1) Answer in one word/phrase/sentence: [10]
a) Who is Sally’s husband?
b) What is the name of Sophia’s mentor?
¢) To which Collection of poems by Cohen ‘The Genius’ belongs to?
d) How does Raymond Souster describe girls in ‘Young Girls’?
e)  What is the central theme of Gilmore’s ‘Eve song’?
f)  Whose death is lamented in Slessor’s ‘Five Bells’?
g) Who is Jonhine Dowd?
h) What is the name of Pearl’s daughter?
1)  What is Kip’s speciality in the army?
) Who is Almasy’s best friend in desert?

PTO.
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Q2) Attempt any two of the following questions in about 600 words eaclgim

a)  Discuss the issues of hybrid culture and identity crises in post colonial
Canadian novel with reference to the prescribed text.

b) Discuss the various themes in Australian and Canadian poetry.

¢)  Writea detailed note on the major concerns of Modern Australian Drama.
Q3) Attempt any two of the following questions in about 600 words each:[30]

a) Examine the theme of ‘female intellectual ambition and its
frustrations’reflected in Munro’s “Too Much Happiness’

b) Discuss the Social realism reflected in Gilmore’s ‘Eve song’.

¢) Critically evaluate the theme of love reflected in Cohen’s poetry.

Q4)Write short notes on any two of the following in about 200 words each:
(10]

a)  Psychological conflict of Sally.
b)  Symbol of Desert in The English Patient

¢) Theme of the poem ‘Never Admit the pain’
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Total No. of Pages : 3

Seat
No.

M.A. (Part - II) (Semester - III) (CBCS) (New) Examination.
March - 2023

Hindi (&) (Paper - XII)

FAWR AT - |

Sub. Code : 71306

Day and Date : Thursday, 15 - 06 - 2023 Total Marks : 80

Time : 02.30 p.m. to 05.30 p.m.
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Seat Total No. of Pages : 5
No.

M.Com. (Part - II) (Semester - IIT) (CBCS)
Examination, March - 2023
CC-C1: MANAGEMENT ACCOUNTING (Paper -I)
Sub. Code: 79883

Day and Date : Monday, 12- 06 - 2023 Total Marks : 80
Time : 2.30 p.m. to 5.30 p.m.

Instructions: 1)  Question No.1, 2 & 3 are compulsory.
2)  Attempt any two questions from Q.4 to Q.6.
3)  Figures to right indicate full marks.

Q1) A) Choose the Correct Alternative. [10]

a) Management Accounting is concerned with accounting information
that is useful to the

1)  shareholders i) customers
iii) management iv) All of these
b) Management Accounting system is based on system.
i)  double entry | | i) singleentry
iii) merchantile iv) none of these
¢)  Which of the following current asset is most liquid asset.
i)  Inventory ii) Prepaid Expenses
i) Marketable Investments iv) Debtors
d) Liquidation of assets typically would disrupt the
operations of the firm.
i)  current i) fixed
ii)) tangible iv) intangible
e) assets are those assets which are invisible but they silently
contribute to the existence and development of entity’s activities.
i)  Current i) Fixed
iii) Tangible iv) Intangible
f) working capital means the excess of current liabilities
over the current assets.
i)  Seasonal i) Positive
iii) Negative iv)  Permanent

RT.0.
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Q2) a)

b)
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working capital refers to the minimum amount of in-

)
: vestmentin current assets required at all time to carry out minimum
level of business activities.
i)  Seasonal i) Positive
i)  Negative iv) Permanent
h)  As per AS-3, acquisition of machinery by issue of equity shares or
redemption of debentures by issue of equity shares should be shown
under ____activities in a cash flow statements.
i) operating i) investing
i) financing iv) none of these
i)  Redemption of preference shares by issue of debentures results in
of funds.
i) inflow ii) outflow
i) no flow iv) none of these
j) A company issues shares worth Rs. 5 lakh for purchase of plant
and Rs. 5 lakh for cash results in
) funds inflow of R&.15 lakh
i)  funds inflow of Rs. 10 lakh
i)  funds outflow (?f//// Rs. 5 lakh
iv) funds outflow of Rs. 10 lakh
State the following Statement are True or False. [6]
a)  Analysis of financial statements is a tool but not a remedy.
b) Dividend paid is not a source of fund.
c) Payment of cash against purchase of stock is use of fund.
d) Ratio Analysis is useful for inter-firm comparison
e) Incalculating net cash flows, depreciation is not treated as a cost.
f) A major deficiency of the statement of cash flows is that it doesn’t

explicitly consider non-cash transactions.

What do you meant by management accounting? Explain functions of
management accounting, (8]

Discuss in detail various objectives of financial statement. (8]

OR

2.



Write Short Note (Any FOUR).

a)  Scope of Management Accounting.

b) Limitations of Ratio Analysis.
¢) Working Capital Cycle.
d) Sources of Funds.

e) Cash Flow Statement.

f) Common Size Statement.

SR-25
[16]

Q3) Excellent Ltd. is desires to purchase a business and has consulted to you and
one point on which you are asked to advice them is average amount of
working capital which will be required in the first year’s working. You are

given the following information and are instructed to add 10% your computed
figure to allow for contingencies.

(16]
Sr. No. Figures for
the year Rs.
1. Average amount locked up in stocks
Stock of Finished Products 50,000
Stock of Stores, Materials etc. 80,000
2 Average credit given
Inland sales one and half month credit 31,20,000
Exports sales half month credit 7,80,000
3. Lag in the Payment of wages and other
outgoings-
Wages half month 2,60,000
Stores materials etc. 1 .5 months 48,000
Rent Royalties etc. 6 months 10,000
Clerical Staff Salary half month 92,400
Manager Salary half month 60,000
Misc. Exp. 1.5 month 4,80,000
4. Payment in Advance (paid quarterly in advance) 80,000

o
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Q4) Following are summarized Balance Sheets of M/s Om & Co. as on 31 March

2022 and 2023, [16]
Liabilities 2022 2023 [Assets 2022 2023
Equity Share Capital | 2,00,000 |2,50,000 |Cash at Bank | 35,000 | 16,000
12% Debentures 1,00,000 | 80,000 |Closing Stock | 40,000 [ 75,000
10% Pref. Shares 50,000 | 80,000 |Bills Receivable [ 20,000 | 50,000
Bank Loans 70,000 |1,10,000 |Sundry Debtors| 70,000 | 1,00,000
Reserve & Surplus 20,000 | 25,000 Machinery 85,000 | 68,000
Profit & Loss A/c 60,000 | 75,000 |Land 2,00,000 |{3,05,000
Proposed Dividend 20,000 | 25,000 |Building 140,000 | 99,000
Creditors 70,000 | 68,000

5,90,000 |7,13,000 590,000 |7,13,000
Additional Information:

a) Depreciation charged during 2023 was Rs. 4,000 on Machinery and
Rs. 12,000 on Building. _

b) Redemption of debentura‘ys%waﬁ'{s%%nade at 10% premium.

c) The machinery which éoSts Rs. 52,000/- and in respect of which

Rs. 37,000/- had been written off as depreciation was sold during the
year 2023 for Rs. 20,000/-

d) During 2023 interim dividend Rs. 16,500 was paid.

Prepare Funds Flow Statement, statement of working capital and adjusted
profit & Loss Alc.

QS5) Using the following accounting variables construct the Balance Sheet As on

31 5 March, 2023. [16]
Gross Profit (20% of Sales) Rs. 60,000
Shareholders Equity Rs. 50,000
Credit Sales to Total Sales 80%
Total Assets Turnover Ratio 3 times
Stock Turnover Ratio 8 times
Average Collection Period (A year = 360 days) 18 days
Long term debt to Equity 40%
Current Ratio 1.6
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Balance Sheet As on 31% March, 2023

Liabilities Rs. Assets - Rs.
Shareholders Fund - Cash *
Long Term Debt - Debtors -
Creditors - Closing Stock -

- Fixed Assets -
Total - Total -

Q6) The Balance Sheets of J&K Ltd. as on 31% March of two years are given
below: [16]
Liabilities 2022 | 2023 |Assets 2022 | 2023
Sundry Creditors 30,000 | 40,000 [Cash Balance 50,000 | 60,000
Debentures 1,50,000 | 90,000 [Sundry Debtors 75,000 {1,00,000
Provision for
Depreciation on Plant| 60,000 [ 80,000 [Inventory 1,40,000 {1,20,000
Equity Capital 2,00,000 2,40,000 Land 1,00,000 | 80,000
Retained Earnings  [1,25,000 |1,60,000 |Plant & Machinery [2,00,000 [2,50,000
Total 5,65,000 (6,10,000 |Total 5,65,000 16,10,000

Cash Dividends of Rs. 25,000 have been paid during the year.

You are required to prepare a cash flow statement.

g 0 0
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Seat
No.

Total No. of Pages : 4

M.Sc. (Part - I) (Semester - I) Examination, March - 2023

MATHEMATICS (NEP)
Partial Differential Equation
Sub. Code : 87761

Day and Date : Thursday, 22 - 06 - 2023 Total Marks : 80
Time : 10.30 a.m. to 01.30 p.m.

Instructions: 1)  Question No. 1 is compulsory.

Q1) Choose the correct alternative.

a)

b)

2)  Solve any four questions from Q. No.2 to Q. No. 7.
3)  Figures to the right indicate full marks.

[16]

After eliminating arbitrary constan and B from z= Ae®” cos Bx we

get a
1)  second order 11nea1 partlal differential equation

i) second order non-lmear partial differential equation
i) first order 1111ear partlal differential equation

iv) first order rfon—lmear partial differential equation
The solution of the partial equation xzp + yzq = xy is

) -2y -42) 0 o507

1i1) ¢(x2+22,y2+4z) iv) ¢( , Xy — z)

If the two first order partial differential equations f{x, ¥z, p,q)=0and
g(x, y, z, p, g) = 0 are compatible then .

)  every solution of f= 0 is also the solution of g=0.

i)  every solution of g = 0 is also the solution of f=0.

i) they have common solution.

iv) they do not have common solution.

PTO.
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g)

h)
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The Wave equation is of
1)  parabolic type iiy hyperbolic type
i)  elliptic type iv) harmonic

T
; 2 2 —-a)y = |
The envelope of one parameter family of surfaces x*> +y* + (z-a) =1,
where a is a parameter is?

1)  rightcircular cone ii) cylinder
i) rectangle iv) plane parallel to xy-plane

In polar coordinates r, 8, the two-dimensional Laplace equation is given
by

)
i)  notunique

iii) always unique

iv)  unique up to the addition of a constant

The partial differential equation u + XYU =0is elliptic if
D x#0;y>0 1) x<0;y<0

i) x>0;y<0 v) x<0;y>0



Q2) a) .

b)

03) a)

b)

04) a)

b)

05) 2)

b)
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Find the partial differential equation corresponding to the equation

F(x +),Xx- \/; ) =0 where F is an arbitrary function. [6]

Show that the equations /= p? + ¢* — 1 =0 and g = (p* + ¢°) x — pz are
compatible. 5]

2

Find the general integral of z(xp — yq) = x* - y*. [S]

Prove that a necessary and sufficient condition that the Pfaffian differential
equation X - dr =P(x, y, z)dx + Q(x, y, z2)dy + R(x, y, 2)dz = 0 is integrable
is that X - curl(X)=0. [10]

Show that z = ax +—+b isa comp_léte, ui\fegral of pg= 1. Find the particular
y s

solution corresponding to the bf‘amlly b=a. [6]

25y

Find the comgleté:fngfgral of the partial differential equation s

Solve the equation u x* — uy2 — au? = 0 by Jacobi’s method. [5]

Derive an equation governing small transverse vibrations of an elastic
string. (6l

Reduce the equation #_ —x*u, = 0 to a canonical form. [6]

Obtain d’ Alembert’s solution of the one-dimensional wave equation which
describes the vibrations of a semi-infinite string. [10]
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06) a) Show that the solution p(x, t) of the differential equation [8]

-

utku =Fx)0<x<[t>0
satisfying the initial condition
u(x,0)=Afx),0<x<!

and the boundary condition

u(0, 1) =u(0, 1) =0, ¢ > 0 is unique.

b) Find the condition that a one parameter family of surfaces form a family
of equipotential surfaces. [8]

Q7) a)  State and prove Kelvin’s Inversion Theorem [8]

b) Find the solution of the problém
V2u=0,—oo<x<oo,y>0,
u(2,0) = f (x)sred< ¥ < oo

such that 1 is bounded as y — oo and 5, and u_vanish as x| 0. [8]

X X x



